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20% H 9 AR & oI TH WL wl—
(1) 25% () 44%

(3) 50% 4) 5%

(5) T ¥ ¢ = [srfaee AT 1992, CPO 2006]
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T fahal T T W 8% 9Ll ¥ A 6%
fora = 3@ 21 AR BE a9 W WK
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50. TF G0 AN B R g P B WA W 14 46 e
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S e 110 75

6. (1) W wEt & wg A @ P 100 T
TR 9 W 9% W H e g
=100—35 =65 %

[B-274]

$agirAhmud
o T TR F q% W H: o P

=(65—65X10)=58.5
100

_100x1170

=2000

TRICK :
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L 102 %, . =120%
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- 7% -5%=15

= 2%=15

= 100% =750 %
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(100-26.5)
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B} * A S <. Qe =1 = 100 — 96 = 4%
=[320‘(32°"@H % =307.20% | TRICK : 20 1 20% = 4% i |
. AT 922 = (500 — 307.20) T 3. Q) T fF I F|HFIT P =100 %
=192.80 % 25% A SAfehd F@ W 9q0 T3 4
S FEE SRR = (200 — 192.80) T =125%
=730% 125 &1 10% F=L = 12.50 T
TRICK - T B =(125-12.50)=112.50 %
36x4 (112.50-100)
=500x ———— =720 % . gfwE = 77100
om *100x100 ¥ A 00

28. (2) 1000000 %= &1 40% 5 =12.5%

=%(())(())“_9=40000 Fo TRICK :
o, hivh F2— 25-10- 2210 _ 5 504
10000036 100
100000 %o T 36% =T - —d
— 36000 % 32. (1) = & 9 =9 =x o
@, fa % = 100000 — 36000 feha e = x +x W 20%="
= 64000 T o 6x 6x
© o = me——— &I
64000 x4 T TS Ty W%
5, 64000 1 4% =——
100 6_(13_)6_ 18 _57x
=2560 % s\U 20) 5 20 50

[B-277]




Times vfeifiren o
g =X o Ix 34. (&)
50 50
7x
0
s % =30 100=14%
o= o 35. (3)
TRICK :
20-5-22%5 _ 1404 36. (4)
100

33. (2) 9 % w3 @ =x TR
3fwd 4o =x + x 10%:%

B X100
ERR S
- l_'a'rﬁxloo -
T x ' 100

x 99x
M % =X 150 = 100

A T a9 =y%

Hx lx _99x

1010 100

llx(l y )_99_x

g %=

%

A To " 100) 100

Y -2

1
100 10 10

100
=90 0%
SRR S

TRICK :

I,

10xx
100
aq, —1=10-1.10x

-1=10-x-

a, 1.10x=11

qM, x=10%

[B—-278]

37. (2)

38. (1)

39. (4)

2 Sagir Ahmad

TRICK :
20-25-202 _ s 5 _10%
TRICK :
153x£0—=216 Fo

85
TRICK :
120 &1 60% =72 %o
I _80-72 100=10%

20% az\zr shidehi a‘o a,:'o 'az hl W‘
= 3000 =T 80% =2400 %
AR 10% e F ] d e I F T

_ 2400110

=2640 %
100 ¥

TRICK :

3000x 22 % 10 _ 56405
100 100

A fomn fo oeg &1 gt 9o = 100 T
a2 = 8% .
" [ Ho =100-100 1 8% =92 %
fapa W =6%
foo B =92 + 92 F1 6% =97.52 %
e 3972 AT B =100%
100x243.80
97.52
=250 %

243.80 ,

2”2 »

TRICK :
e fF gt N = x %
= 243.80x100x100 _
(100 - 8)(100 + 6)

e
WA x 991 %9 9o 100 % € |
5 20% % Y & 9K fHe P =120%




Times.
e H A =120~ 100 =20 %
T srEew A,
2x T F HT P =2 x 100 =200

& 7o = (200 +2 x 20) F (100 - 10)%

90
= ——=216
240 &t 100 o

A = (216 —200) = 16 T
avfie ST =20:16=5: 4

TRICK :
TEE 9 =20

TE @ =120x2x%—200=16 Fo

ST =20:16=5:4

40. (2) 10% 3R 20% & THgA W@

10x20

=(10+20)-
( ) 100

=28%

_72x600
S 100

oH = 540 - 432 =108 %

=432 Beo

_108x100
432

=25%

. % T

TRICK :

600x 20 80 _ 435
100 100

(540-432)
% dAH =————

x100 =25%
432

41. (4)|TRICK :

_50x48
50-48

=1200 %

42. (3) 20%, 12% %1 T W

20x12

=20+12- =29.6%
100

[B-279]

80‘55><100=§><100
80 80

=99 981 WA (F)

85-60 25
i 100 =22 %100
(i) —gg—x190=53

43. (1) ()

9065 25
100 =22 100
(i) =50 ~199=55

95”7°><100=2—5><100
95 95

120-95 25
) 120 xlOO—ExIOO
=] Bl WA (920)
44. (1) 71 % 57 B =x %

WIER,
xx5%%+(x—10000)x%% =1990

(iv)

41, x = 34000 %

Sagir Ahmad

TRICK : faweq |-

34,000 W 5%%=1870 To
R R,
(34000—10,000)><%%=120 %o

.. @ A = 1870 + 120 = 1990 %
45. (1) dehTel ¥ = 1236 — 36 = 1200 %

1
5 1200 ® > 4 FT N =36 T

_36x2x100
T 1200

OB -1 =6%

46. 2) [TRICK :
S T =240><g=288 %

_ (288-264)

I
o = 100 = 8-%
- ST 288 37




Times

47. 2)

48. (2)

49. (2)

it siwmiora

TRICK :

8000 £x£—6 460 %
100 100

TRICK :
85

o Ho =2,880 —=2040 o

b “120 ¥

o 6 g 1 I = x TR
30% 9gH W T = x + x H 30%

130 13x
T 77100 10
HHEF T A & R T

13x 90 90 _1053x
) lOO 100 1000

_1053x
T 1000
_1053x-1000x _ 53x
1000 1000

Sagir Ahmad
53x

EIRNG I AR ) =—19@x100 ‘

=2 539
10

50. (3) W T B g T =100 %
92 = 40%
GRU AR 1 a9 =100
amqmmlﬂmmq@ = (100 - 40)

= 60 To
WM =40
40 2
% MY =%x100=66§-%
TRICK :
40x100 =66g%
(100-40) 3

MUST READ

Jor

SURE SUCCESS

DESCRIPTIVE MATHEMATICS

ALL COI\/IPLT] FrIVE E‘(AM, -
By Sagir Ahmad

Published by : ' TIMES PUBLICATION
3-B, Gulab Place, Arya Kumar Road, Machhuatoli

PATNA — 4 # Ph. : 0612-2666645

Mob. : 93345930

34, 9431222094

[B-280]




